





General information

Make	ΤΟΥΟΤΑ
Model	RAV-4 VVTI GX
Colour	Blue
Year of manufacture	2003
Gearbox	4 speed automatic

Engine & fuel consumption

Power	146 BHP	0 < 101 A
Max. torque	193 Nm at 4.000 rpm	101 - 120 ^B _C
Engine capacity	1.998 cc	121 - 140 P
Cylinders	4	141 - 165 ^F _G
Fuel type	Petrol	166 - 185 H
Consumption city	22.8 mpg	186 - 225 J
Consumption extra urban	37.2 mpg	225+ L
Consumption combined	30.4 mpg	
CO2 emission	224 g/km	
CO2 label	К	



MOT history

MOT expiry date	2022-02-02
MOT pass rate	79 %
MOT passed	15
Failed MOT tests	4
Total advice items	21
Total items failed	8

MOT #19		2021-02-03 14:49
MOT test	number	366700788711
Result		✓ Passed
Next expi	ry date	2022-02-02
Advice	Offside Front Coil spring corroded (5.3.1 (b) (i))	
Advice	Exhaust has a minor leak of exhaust gases 2x exhaust leak (6.1.2 (a))	
Advice	Front aim pattern barely visible	





MOT #18	2021-01-30 09:34
MOT test number	629499117044
Result	🗙 Failed
Fail (b) (ii))Nearside Front Anti-roll bar linkage ball joint dust cover no longer prevents the ing	gress of dirt (5.3.4
Advice Nearside Rear Tyre worn close to legal limit/worn on edge inner edge (5.2.3 (e))
Advice Oil leak, but not excessive (8.4.1 (a) (i))	
Advice Offside Rear Tyre slightly damaged/cracking or perishing (5.2.3 (d) (ii))	
Fail Nearside Rear Valve stem seriously damaged (5.2.3 (j))	
Advice Front aim pattern barely visible	
Fail (ii))Offside Front Anti-roll bar linkage ball joint dust cover no longer prevents the ingra	ess of dirt (5.3.4 (b)
Advice Nearside Front Tyre worn close to legal limit/worn on edge inner and outer edge	ge (5.2.3 (e))
Advice Offside Front Coil spring corroded (5.3.1 (b) (i))	
Advice Nearside Rear Tyre slightly damaged/cracking or perishing (5.2.3 (d) (ii))	
Advice Offside Rear Valve stem slightly damaged (5.2.3 (j))	
Advice Exhaust has a minor leak of exhaust gases 2x exhaust leak (6.1.2 (a))	
Advice Offside Front Tyre worn close to legal limit/worn on edge inner edge (5.2.3 (e)))

2019-07-27 08:38
119248518100
✓ Passed

MOT #16	2018-07-30 09:17
MOT test number	321317010417
Result	✓ Passed





MOT #15	2017-08-21 08:28
MOT test number	389430092318
Result	✓ Passed
MOT #14	2016-09-20 13:44
MOT test number	899372495097
Result	✓ Passed
MOT #13	2015-03-16 10:31
MOT test number	507505075053
Result	✓ Passed
MOT #12	2015-03-13 15:42
MOT test number	678442875047
Result	🗙 Failed
Fail Offside Stop lamp not working (1.2.1b)	
Fail Offside Rear coil spring broken (2.4.C.1a)	

MOT #11	2014-03-12 12:23
MOT test number	869411674073
Result	✓ Passed

MOT #10	2013-03-22 08:32
MOT test number	179201883005
Result	✓ Passed
Notice N/s/f tyre close to limit	



LF03VMZ
report date: 2024-03-29

МОТ #9	2013-03-21 15:42
MOT test number	699820083010
Result	🗙 Failed
Fail Rear Brake pad(s) less than 1.5 mm thick (3.5.1g)	
Notice N/s/f tyre close to limit	
Fail Front Brake pad(s) less than 1.5 mm thick (3.5.1g)	

MOT #8	2012-02-15 18:14
MOT test number	127176742023
Result	✓ Passed
Notice F / r pads wearing low	
Notice N/s/f tyre wearing close to limit	

MOT #7	2011-03-07 11:44
MOT test number	137966961028
Result	✓ Passed
Notice N/s/f tyre	
Notice Rear pads low	

MOT #6	2010-03-01 13:13
MOT test number	962920560076
Result	✓ Passed

МОТ #5	2009-03-02 13:14
MOT test number	173591169435
Result	✓ Passed
Advice Nearside Rear Tyre worn close to the legal limit (4.1.E.1)	
Notice Nail in nearside rear tyre	





MOT #4	2008-02-18 11:03
MOT test number	813029648025
Result	Passed
MOT #3	2007-06-22 10:48
MOT test number	972363477127
Result	Passed
MOT #2	2006-06-01 15:39
MOT test number	602742856198
Result	✓ Passed
MOT #1	2006-06-01 15:39
MOT test number	451112856155
Result	🗙 Failed
Pass with rectification Offside Front Headlamp aim too high when the ce 850mm from the ground (1.6.B2)	entre of the headlamp is below



Tax & MOT check

X Untaxed Tax expired: 30 October 2021	X MOT Expired: 2 February 2022
Tax status	Expired at 30 October 2021
Days left	911 days too late
MOT expiry date	2 February 2022
Full MOT history	See MOT history
Tax calculation	

Vehicle class	48
Band	К
Single payment (12 months)	£ 395,00,-
Single six month payment	£ 217,25,-
Total payable by 12 monthly instalments	£ 414,75,-





Damage history

Check the damage history for this TOYOTA. See if, where and when this TOYOTA had damage and the car repair costs. We also check if this TOYOTA was scrapped. Download the premium report <u>here</u> for the results.

Damage 1	
Date	FEIDO
Category	Lamp
Туре	
Damage 2	AMPLI
Damage 2	E E H - S - A
Date	*
Category	AMP.
Туре	

Extra TOYOTA salvage check

If this vehicle was seen at a salvage auction we offer: vehicle pictures, salvage location, retail value. Download the premium report <u>here</u> for more information.

More info \rightarrow





Owner history

For how long did the current and previous owner(s) have this TOYOTA? How many owners did this TOYOTA have? Check it in the premium report and see all owner registrations. Download the full report <u>here</u>.

	More info >
Plate changes	
See in this check if this TOYOTA had different number plates.	
Number of plates	,
Current registration	
Plate since	
Current registration	
Plate since	





Finance check

Check if this TOYOTA is financed, has an outstanding loan or finance agreement. If you are purchasing a vehicle it is smart to ensure that any finance that may have been taken out on this TOYOTA has been settled.

If not, and you buy this TOYOTA then you could lose the money and the car you paid for.

Download the premium report <u>here</u> and check if this TOYOTA is financed.

Finance company	
Date of agreement	
Agreement type	
Agreement term	
Agreement number	
Contact info	

More info \rightarrow





Mileage check

Odometer	In miles
Mileage registrations	19
First mileage registration	2003-06-07
Last registration	2021-02-03
Complete history	See info



Registration #1	2003-06-07	15 mi
Registration #2	2006-06-01	30.516 mi
Registration #3	2007-06-22	40.294 mi
Registration #4	2008-02-18	44.327 mi
Registration #5	2009-03-02	50.908 mi
Registration #6	2010-03-01	54.618 mi
Registration #7	2011-03-07	57.778 mi
Registration #8	2012-02-15	61.174 mi
Registration #9	2013-03-21	66.241 mi
Registration #10	2013-03-22	66.241 mi
Registration #10 Registration #11	2013-03-22	66.241 mi
-	2013-03-22	66.241 mi
Registration #11	2013-03-22	66.241 mi
Registration #11 Registration #12	2013-03-22	66.241 mi
Registration #11 Registration #12 Registration #13	2013-03-22	66.241 mi
Registration #11 Registration #12 Registration #13 Registration #14	2013-03-22	66.241 mi
Registration #11Registration #12Registration #13Registration #14Registration #15	2013-03-22	66.241 mi
Registration #11 Registration #12 Registration #13 Registration #14 Registration #15 Registration #16	2013-03-22	66.241 mi

More info \rightarrow





Car features

S0225	Air conditioning
S0295	
S0482	
S0501	
S0566	
S0567	
S0569	

Safety ratings

NCAP rating

Video

see crash video



Dimensions & weight	
Width	1785 mm
Height	1710 mm
Length	4260 mm
Additional information	
Number of axles	2

Engine number

1AZ4616051